MHF-41 QUIZ#6 (Application)
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|. Find the qunncnl(nns\\cr)dml the remainder for 2x" - 13x" +2Ix =11 = 2x" -3x + |
Show work
e
¥
| r‘ )
1
: . L0
y\
g = ;(1 + f/‘ Jo !
A
L. c POY
J ‘,_,)) l/ ! A
b ‘ i K v S A ’(’
[ P X “t21x A
x
, 5
< - ¢ edxil
— ) 3 }
1 ( 2 ) | \)/7, \(1 | £
Y ey O i i ( | '
o | ) A 1 ‘ | o - HAl - ‘A
3 ) < ) s s e ; 10
£ d only the remainder when 2x° +3x° — 65x + 84 is divided by
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3. Sketch a graph of the function 1-(\) IxV 4+ x° +23x° + 3x —90. Find the zeros '
and label x and y-intercepts. Sketch the graph on the next page. . 2HF ;Y
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4. Factor fully

a) 8x°> + 125y b) (x+2)? - 64 , .
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